IB Math HL1   Exit Slip #1 






Name: ______________ period: ___
1,  Determine whether the Mean Value Theorem can be applied to 
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 .  If the Mean value Theorem is applied, find all values of c in the given interval.  

2.  Given 
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, prove that f is continuous but not differentiable at the point (0, 0).
3.  Given  
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a)  Find the exact values of a and b if f is continuous and differentiable at x=1.

b)  Use “Rolle’s theorem” applied to f, to prove 
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 has a root in the interval (-1, 1).

c)  Hence, 
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 has at least two roots in the interval (-1, 1).

4. Wesley Crusher is trying out his miniature antigravity device.  In this trial, the device moves in a vertical line and its height is given by 
[image: image7.wmf](

)

32

29

44

32

htttt

=-+-+

 meters, where t is in seconds. 
a.  Find expressions for the device’s velocity and acceleration and draw sign diagrams for each of them.  

b.  On what interval(s) of time is the device’s velocity decreasing?
c.  On what interval(s) of time is the device’s speed decreasing?

d.  At what time does the device hit the ground?

e.  What is the impact velocity of the device?

f.  At what times does the device change direction?

g.  Find the total distance traveled by the device during its flight.

Extra Practice:

1.  Find all numbers c that satisfy the Mean Value Theorem for…

a. 
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b. 
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2.  Find the values of a and b that make the piecewise function differentiable at the point where the rule for the function changes.

a.  
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b.  
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